

Portfolio Valuation Report for the period 1 January 2017 to 5 April 2017

Whitemore SSAS Retirement Scheme

A R Whitemore Esq 191 High Street Street Somerset BA16 0NE

Investment Manager: D Carmichael-Jack



Portfolio Valuation

Date: 5 April 2017 Ref: 050610S/DE2

Whitemore SSAS Retirement Scheme

Security Description	Holding	Market Price	Market Value	Book Cost	Est. Annual Income	% Yield	Dividends Due
EQUITY							
OTHER OVERSEAS							
DIVERSIFIED COLLECTIVE INVESTMENTS							
WAY FUND MANAGERS ELITE INCOME TRUST B INC NAV	163,865	£ 1.1646 XD	£190,837	£175,730	£4,166	2.18	Apr Jul Oct Jan
TOTAL OTHER OVERSEAS			£190,837	£175,730	£4,166	2.18	
TOTAL EQUITY			£190,837	£175,730	£4,166	2.18	
SECURITIES TOTAL			£190,837	£175,730	£4,166	2.18	
CASH							
GBP CAPITAL BALANCE	£ 5		£5	£5	£0	0.00	
CASH TOTAL			£5	£5	£0	0.00	
GRAND TOTAL			£190,842	£175,736	£4,166	2.18	



Portfolio Indices and Exchange Rates

Date: 5 April 2017 Ref: 050610S/DE2

Indices

FTSE PRIVATE INVESTOR BALANCED INDEX(TOTAL RETURN)	3,681.13
FTSE PRIVATE INVESTOR GROWTH INDEX(TOTAL RETURN)	3,789.31
FTSE PRIVATE INVESTOR INCOME INDEX(TOTAL RETURN)	3,505.98
FTSE UK FTSE 100(TR)	6,043.9519
FTSE UK ALL-SHARE(TR)	6,693.6123
FTSE UK SMALL CAP(TR)	7,673.9689
FTSE UK AIM ALL STK(TR)	1,020.3968
FTSE UK GILTS ALL(TR)	3,589.11
DOW JONES AVERAGES DOW JONES INDUSTRIAL AVERAGE (TR)	43,763.95
S&P 500(TR) S&P 500(TR)	4,520.859
MSCI ACWIF ACWI(GBP)	169.8826

FTSE International Limited ("FTSE") © FTSE 2012. FTSE® is a trade mark of the London Stock Exchange Group companies and is used by FTSE under licence. All rights in the FTSE indices and / or FTSE ratings vest in FTSE and/or its licensors. Neither FTSE nor its licensors accept any liability for any errors or omissions in the FTSE indices and / or FTSE ratings or underlying data. No further distribution of FTSE Data is permitted without FTSE's express written consent.



BASIS OF VALUATION PRICES

Mid market prices are used in this valuation and performance summary and are quoted as at the close of business on valuation date or the last business day before the date of valuation. Some holdings may be priced on a less frequent basis in which case the latest available price will be used. Unquoted holdings are valued at prices obtained from accredited sources which can be supplied on request.

LGT Vestra takes no responsibility for prices of unmarketable securities.

HOLDING QUALIFICATION

* All, or part, of the holding is not in the custody of LGT Vestra or its custodians.

PRICE QUALIFICATION

- CB Cum-Capitalisation
- СC Cum-Capital Return CE Consolidation Effective
- CL Cum-Liquidation
- CN Cum-Capital Distribution
- CP Consolidation Pending
- Cum-Rights Issue CR
- Cum-Stock Split CS
- CD Cum-Dividend
- **Cum-Scrip Dividend** CV
- CA Cum-more than one of the above

CHARGES AND REMUNERATION

Ex-Capitalisation Ex-Capital Return Ex-Dividend Ex-Liquidation Ex-Capital Return Ex-Rights Issue Ex-Stock Split Ex-Scrip Dividend Ex-more than one of the above

- DE Redenomination Effective
- DP Redenomination Pending
- PD Price Data but no Corporate Action Data
- RE **Renominalisation Effective**
- RP Renominalisation Pending
- SE Subdivision Effective SP
 - Subdivision Pending

Commissions and charges have been notified on the confirmation notes issued to you at the time of dealing. Remuneration received by LGT Vestra from third parties is available on request.

XB

XC

XD

XL

XN

XR

XS

XV

XΔ

Holdings shown on valuations may not be held in our nominee company. We have not verified information supplied to us by you or a third party relating to holdings outside our custody or control. Please refer to your custody statement to confirm the securities we are holding on your behalf.

Where an investment is denominated in a foreign currency, changes in exchange rates may cause your investment, or income, to go up or down.



Schedule of Acquisitions and Disposals

Pension Fund Account

1 January 2017 to 5 April 2017

Whitemore SSAS Retirement Scheme

Currency: Pounds Sterling

Ref: 050610S/DE2

Security Description	Trade Date	Quantity	Contract Price	Acquisition Cost	Disposal Proceeds
EQUITY					
OTHER OVERSEAS					
WAY FUND MANAGERS					
ELITE BALANCED TRUST B ACC NAV					
Purchase	05/01/17	257,817	£1.3304	£342,999.74	
Purchase	10/01/17	14,898	£1.3424	£19,999.08	
Sale	20/02/17	-135,363	£1.3667		£185,000.61
Sale	22/02/17	-131,483	£1.369		£180,000.23
Sale	28/02/17	-5,869	£1.3718		£8,051.09
WAY FUND MANAGERS					
ELITE INCOME TRUST B INC NAV					
Sale	05/01/17	-319,061.8	£1.1409		£364,017.69
Equalisation	31/01/17	0			£526.21
Sale	20/02/17	-155,267	£1.1593		£180,001.03
Sale	08/03/17	-868	£1.164		£1,010.35
Total				£362,998.82	£918,607.21